Integrals immediates
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Integrals immediates
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1) f(ﬂw.s?(bn)) dx = 3 arcsin(z) — 4 tan(z) + k 1) /(\/16_7+$2i1) dx = 6 arcsin(x) + 6 arctg(z) + k
) : . 4
2) f($+661)dw:51n|$|+6e"“+k 2) /(—E—SCOS($)> dr = —4 ln|z| — 8 sin(z) + k
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3) /(5&74—352_'_1) dr = 2" — 6 arctg(x) + k 3) /(—5 sin(z) + 9 cos(z)) de =5 cos(x) + 9 sin(x) + &
4) f A —4€" ) dr =4 tan(x)—4 " + k 4 5 si dr =05 4 arct k
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6) /(—3:1:+3 Sln(l‘))dfﬁ:—i 2% — 3 cos(z) + k 6) /(Se”’— 2+1> de =8 ¢" — 4 arctg(x) + k
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9) (8 cos(x) + 6 sin(x)) dr = 8 sin(x) — 6 cos(z) + k 9) 76+ — | de=17 — 24k
x? In6 =z
10) /(9 60— ) dz—9. > — 61 + k 10 3 cos 5 dr = 3 si 8 j k
7z =9 ) / cos(m)—ﬁ lx = 3 sin(x) — 8 arcsin(z) +
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